L&S5 Flat Panel Wall Mount

//,\/A\
//{ =
/; ’//% i ///
K -
K>
pd s
// //// />/
/// // ///
A
-y
e // - ////ﬁ
s i
T B
- /// ////ﬂz’f’
L A 2
- e
: e
] il i
I -
:: i ”, /¢J ///
|| Lo e
I P
LJ -
-
-
e
-
-
e
(L1
—

225
= p O
=D
i
285,5

Wood
Holz
Bois
Hout

4X DIN 571 - M8 x 80 4.6

Max.
85 Kg

Dimensions are indications, not to be used for any preparations.
No rights can be derived from the above dimensions.

\\
.
\\\
L
.
™~
\\
\\\ ~
\\\ - Ve -~ A
.
<
] I Detail B \
-1 DIN 571 - M8 x 80 \
D \
wﬁ \
L Aaes~nnn”
)
/
J
FW: B -
L N -
| ~ e
. o
| 1
|
P or
A | ~
18 _| S
i d N
| | Detail A \\
L I~ i \
: s ] \
|
! DIN 16168 - M8 x 75 /J
1 - ~
| L -
| -
Concrete:
Beton
Béton
Beton
4X DIN 16168 — M8x75
NOTE: All dimensions are %..., in mm and subject to change
© COPYRIGHT AUDIPACK AUDIPACK

This print and the information
shown thereon, is the property of
AUDIPACK.

It may not be delivered to others
nor reproduced for general
circulation without the written
consent of the AUDIPACK
engineering department.

N\

AUDIPACK"

Industriestraat 2-4
2751 GT Moerkapelle
the Netherlands

Tel: +31(0)795931671
Fax: +31(0)795933115

www.audipack.com

MOUNTING GUIDE

390967

6-6-2011



/ 2385
212.4

%ﬂpﬂv

289,4
309
)

yAERN
L9606¢€
7

NOTE: All dimensions are ..., in mm and subject to change

© COPYRIGHT AUDIPACK AUDIPACK
This print and the information Industriestraat 2-4
shown thereon, is the property of 2751 GT Moerkapelle
AUDIPACK. . % the Netherlands
It may not be delivered to others )
nor reproduced for general ;:)'( :%11((%))77%55%%;?7115
circulation without the written AUDIPAC K® ' .
consent of the AUDIPACK www.audipack.com
engineering department.

Dimensions are indications, not to be used for any preparations. 390967

No rights can be derived from the above dimensions. MOUNTING GUIDE

6-6-2011




